
Trivia Quiz
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Q1) What fruits are dried to make prunes?

Q2) What is the maximum break in snooker?

Q3) Which wall, built in the 120s AD, was the largest structure in the Roman Empire?

Q4) Who was nicknamed The Maid of Orléans?

Q5) What did Jesus say was more likely to pass through the eye of a needle than for a rich man to enter heaven?

Q6) What kind of vehicle is a B-52?

Q7) The gosling is the young of which animal?

Q8) What nationality was Alexander Graham Bell?

Q9) Bitcoin is a cryptocurrency. True or False?

Q10) What is the next prime number after 7?

Q11) 0 Kelvin or -273.15oC is better known by what term?

Q12) How many corners does a rectangle have?

Q13) Which animal is considered to be "king of the jungle"?

Q14) Where would a wimple be worn?

Q15) If 3a - 5 = 16, what is the value of a?

A) 100 points    B) 123 points    C) 111 points    D) 147 points

A) Aircraft carrier    B) Armoured Tank    C) Bomber plane

A) English    B) Scottish    C) Canadian    D) American

A) False    B) True

A) One the hands    B) On the feet    C) Round the waist    D) Over the head
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Trivia Quiz Answers
by Words Up Games

Q1) What fruits are dried to make prunes?

Q2) What is the maximum break in snooker?

Q3) Which wall, built in the 120s AD, was the largest structure in the Roman Empire?

Q4) Who was nicknamed The Maid of Orléans?

Q5) What did Jesus say was more likely to pass through the eye of a needle than for a rich man to enter heaven?

Q6) What kind of vehicle is a B-52?

Q7) The gosling is the young of which animal?

Q8) What nationality was Alexander Graham Bell?

Q9) Bitcoin is a cryptocurrency. True or False?

Q10) What is the next prime number after 7?

Q11) 0 Kelvin or -273.15oC is better known by what term?

Q12) How many corners does a rectangle have?

Q13) Which animal is considered to be "king of the jungle"?

Q14) Where would a wimple be worn?

Q15) If 3a - 5 = 16, what is the value of a?

Plums

A) 100 points    B) 123 points    C) 111 points    D) 147 points

Hadrian's Wall

Joan of Arc

Camel

A) Aircraft carrier    B) Armoured Tank    C) Bomber plane

Goose

A) English    B) Scottish    C) Canadian    D) American

A) False    B) True
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Absolute zero

Four

Lion

A) One the hands    B) On the feet    C) Round the waist    D) Over the head
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